
KOMPLEKSIANALYYSI I

Harjoitus 1, kevät 2012

1. Osoita, että (z1z2)z3 = z1(z2z3) aina, kun z1, z2, z3 ∈ C.

2. Laske

a) ik, kun k = 0, 1, 2, · · · .

b) i−k, kun k = 0, 1, 2, · · · .

3. Määrää Rez ja Imz, kun

a) z = (2+3i)(−3+2i), b) z =
4 + 2i

3 − 4i
, c) z = (1 + i)· 1

(2 − i)
.

4. Ratkaise z yhtälöstä

a) (3 + 4i)z̄ = 1 − 2i,

b) iz + 2z̄ = 3 − i,

c) z2 = −5 + 12i.

5. Osoita, että |z1 − z2| = |1 − z̄1z2|, kun z1, z2 ∈ C ja |z1| = 1 tai
|z2| = 1.

6. Määrää luvun z ∈ C napakoordinaatit, kun

a) z = −3i, b) z =
√

3 − i, c) z = 2 − i
√

12.


